6{%
E“

-
¥65
= _

70

OPTIONAL

—

~—

g

0



/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=1
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=2
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=3
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=4
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=5
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=6
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=7
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=8
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=9
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=10
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=11
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=12
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=13
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=14
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=15
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=16
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=17
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=18
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=19
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=20
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=21
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=22
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=23
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=24
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=25
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=26
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=27
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=28
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=29
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=30
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=31
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=32
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=33
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=34
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=35
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=36
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=37
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=38
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=39
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=40
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=41
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=42
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=43
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=44
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=45
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=46
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=47
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=48
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=49
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=50
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=51
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=52
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=53
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=54
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=55
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=56
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=57
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=58
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=59
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=60
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=61
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=62
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=63
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=64
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=65
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=66
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=67
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=68
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=69
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=70
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=71
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=72
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=73
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=74
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=75
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=76
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=77
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=78
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=79
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=80
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=81
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=82
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=83
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=84
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=85
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=86
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=87
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=88
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=89
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=90
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=91
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=92
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=93
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=94
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=95
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=96
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=97
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=98
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=99
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=100
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=101
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=102
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=103
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=104
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=105
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=106
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=107
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=108
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=109
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=70
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=73
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=72
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=71
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=67
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=68
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=69
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=5
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=3
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=4
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=2
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=16
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=15
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=6
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=22
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=24
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=23
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=25
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=21
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=20
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=19
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=48
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=18
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=50
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=45
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=66
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=65
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=64
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=63
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=17
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=14
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=13
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=12
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=29
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=36
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=40
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=39
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=38
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=37
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=35
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=34
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=33
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=53
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=52
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=57
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=56
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=60
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=59
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=58
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=55
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=54
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=62
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=61
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=51
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=41
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=49
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=35
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=47
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=46
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=1
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=44
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=43
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=42
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=41
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=32
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=32
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=31
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=30
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=28
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=27
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=26
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=11
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=10
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=9
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=8
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=7
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=6
/adaption.asp?znr=CLASSIC_ER0182_01_rev02&tnr=1

ER0182

CLASSIC, CLASSIC COFFEE GAG

Pos  Article-Nr. Description Pos  Article-Nr. Description

1 DI7981- SCREW TCB 3,5X9,5 DIN 7981 C NICK 50 WGADM1319 GALV.SPECIAL SCREW M6X16

2 EES&?I LID 51 CC5070/A/IL CLASSIC BODY W. POLISHED ST. STEEL
3 CFO0115 FUNNEL 51 CC5070/A/IS CLASSIC BODY W. SATIN-FINISH ST. ST
4 CF0108/01 TOP COVER W/O HOLES 51 CC5071/A/1S CLASSIC UL BODY W. SATIN-FINISH ST.
5 DI7981P2.9X6.  STAIN STEEL 2,9X6,5THREAD SCRE 52 CC5074 BLENDE CLASSIC GAGGIA

6 fJIN593l—6X1GZ GALV.SCREW M 6X16 53 CC5021 BLACK RUBBER FOOT

7 11012628 TEA/BRASS FAUCET ASSY. 54 227431350 BLACK/BLACK PANNARELLO G100 ASSY.
8 DM0041/081 O-RING 112 IN EPDM 70°SH 55 CC5064 COVER FIXING BRACKET

9 CC5005/01 PROTECTION 56 DM1475 MAIN SWITCH-220-240 VOLTS

10 DMO0814 STEEL SPRING FOR KNOB TYMER 57 CF0112 TRANSP/GREY WATER CONTAINER S/SCR.
11 CFO0189/A BLACK STEAM FAUCET KNOB ASSY. 58 CF0114 GRID

12 DM1288 STEAM TEMPERATURE SWITCH 59 CC5028 GRID SUPPORT

13 EF0030/A ALUM.BOILER 120/220/240 V ASSY. 60 CF0111 DRIP TRAY

14 DM1957 SCREW M 4X5 GALV.W/KNURLED HEAD 61 DM1563/001 SELF FIXING PIN V 120

15 GG0064 BRACKET FOR THERMOFUSE 61 12000280 CUP SOCKET EN 60320 C 13

16 DM1040 FUSE 62 183911050 BLACK POWER CABLE SCHUKO L=1200
17 DM1168 COFFEE TEMPERATURE SWITCH 62 CF0292/AUS AUSTRALIAN POWER CORD

18 4332038000 CAP KNOB FILTER HOLDER 62 CF0292/CHX SWITZERLAND POWER CORD

19 DMO0041/082 O-RING 167 IN EPDM 70°SH 62 CF0292/GBX ENGLISH POWER CORD

20 B0171 CROM/BRASS GROUP BODY 62 CF0292/ILX 3 X 1 ISRAEL POWER CABLE

21 NGO01/001 FILTER HOLDER GASKET 62 CF0292/USA POWER CABLE 2X16 AWG USA BLACK
22 DY0036/A ALUM.SHOWER HOLDER ASSY. 63 WGADM1017  MEASURE

23 UN5931-6X12]  SS SCREW M 6X12 64 WGA2PR/1 SEPARATOR

24 DMO0704 SHOWER 65 NF08/002 1-CUP FILTER 5.5/6.5 GRS.

25 DI7987-5X8lI SCREW TSP M5X8 UNI 7688 DIN 965 INOX 66 NFO08/005 TWO CUPS FILTER 12/14 GRS.

26 NV99.077 TUBE-TIGHTENING CLAMP D=9.8/10.6 67 18G1514 RETAINING - FILTER SPRING

27 DM1645/002 BRASS SOLENOID VALVE V.120/60 68 WGA630100401 2-WAY SPOUT CHROME

27 12001270 TEA/BRASS SOLENOID VALVE 230V 50Hz 69 2301002000 CHROM/BRASS FILTER HOLDER CUP

28 11012627 TEA/BRASS VALVE ASSY. 70 21000491 PERFECT CREMA FILTER KIT

29 B0181 COPPER PIPE 71 11007038 PERFECT CREMA FILTER D.0,6 MM.

30 WGADMO0041/0  Gasket OR 2025 72 4301007000 BLACK TWO WAY PIN

31 ’l)J’;\15931-5X122 GALV.SCREW M 5X12 73 11011693 PERFECT CREMA FILTER

32 WGABO0053 NUT 100 15002250 MANUAL V2 GAG CLASSIC

33 147756562 BLK PROTECTION FOR FOLK SPRING TUBE D=4 100 15002757 SHEET IMAGES INSTR.CLASSIC (200GR)
34 9971.015 TEFLON TUBE 4X6 L.2MT 100 CC5013/02 CLASSIC GAGGIA PACKING BOX

35 149361400 TRANSP.SILICONE TUBE 5X9 65SH IN ROLL 100 CC5049/UL- WIRING V 120

36 UN5931-5X12I SS SCREW M 5X12 100 EEQOGZ 230 V (9307-INOX) WIRING

37 CC5015 SOLENOID VALVE OUTLET PIPE 100 CF0329 PS-E LOWER INTERNAL PACKING CLASSIC
38 CFO0159 OUTLET FITTING - RUBBER 100 CF0330 PS-E UPPER INTERNAL PACKING CLASSIC
39 CF0160 NUT FOR OUTLET FITTING

40 CF0149 OUTLET TUBING

41 DMO0041/088 O-RING GASKET 2025 EPDM

42 B0052 BRASS ELBOW CONNECTOR 1/8 GAS M10

43 12000140 ULKA PUMP EP5/S GW 230V-50HZ

43 12000142 ULKA PUMP EAPS5/S 120V-60HZ

44 GG0085/01 EATON PUMP SUPPORT

45 4332037000 KNOB FILTER HOLDER

46 CF0218 METAL PUMP-SUPPORT

47 GG0073 SPRING FOR FIXING PUMP

48 8332018000 FILTER BASKET (CHROM.)

49 CF0331/A BRASS/CU STEAM TUBE FOR PANNARELLO ASSY.



